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5x2=10
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2. sTsrRiq fttr{QrFi sqd - 5x2=11

(i) erf\qs'..... WTqfu I

(ii) q'r{T""'......... ...-.....q1d 
Hr6r I

(iii) f6{uq ."{TqEffi | ,

(iu) V6qrFT:"" .{Eqrd. 
I

(u) 3Tr i ir{r:...........................T€

3. elrtwt5 qlqt +€qa - bx2=10

3Taq1q1; qqdcryr:

(t) 23 45

(ii) 24 26

(iii) 25 47

(iu) 26 40

(u) 27 65

4. 3{rtmig sei erffiqFTfr tq6w _

(t) a-tq: qg$qg yncrr sTk I

(ii) rrsTcq-u,1 o-g{<: q-qfr 
|

(iii) *cerqrwrfr il=i TFR I

\Lu) ETKT: W qEI5IRT 
I

(u) ffidq|-5qq Ae ffi Tkr

5x2=10
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,=. errrkrig ffig r++Ei g1-eE ftr51-{ : 5x2=10

(t) qq{rfvr: qpjqA 
r

(ii) sERq Eq1 q-ffi 
1

(iiil trqTcq+1 iE: qqil 
|

(iu) vo-sTqil sTqfr t

(u) +{s qffi-wi q{qfr 
r

4x5--20

804 P.T.O.



. 7. fra-'tftty ftqqq whg -

(t) aqg q6€Rl

tii'; *qgni wi,-.r+ir

{rli) erq{$iteri Ti{qT-{T"Ti lsTtci; I

{,ii') *{q.lT-ggT'.{qqEqql

€trg 'g't

(ffirrqr: trsTr:)

2x 15=30
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